(b) as Hindu-Arabic numeral and (¢), (d) as Roman numeral.

(@) XXIX =( () ILIO0RNY

Express (a),

= ( d) 499

(¢ 101

A person had Z 1,00,000 with him. He purchased a TV set for T 16,580 and 2 motorcycle for

Z 45,890. How much money was left with him?

Solution:

Simplify:
(a) (2+3)><(4+6)-10
Faultlon ‘g Solution:

) (2% 13)p< (L6 10

-2~ (7 +9)-

Solution:

> (b) (7+12) % (6-4) +21

Solution:
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1. Knowing Our Numbers

Find the difference between the smallest 8-digit number and the greatest 7-digit number.

Estimate the following by rounding off each number to the nearest hundred.

874 + 578

(Solution:

(c) 3239 x 38

Solution:

© ff RACHNA SAGAR

() 10732 — 4354

Total Marks:

Marks Awarded: [:

Topic 2: Estimation, Using Brackets, Roman Numerals

B R

Solution:

(@) el 111

Solution:
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